CITY OF KENT PROJECT NAME: S. 277th Street ValleyCom Fiber Optics Interconnect BID OPENING: March 8, 2011		BIDDER'S NAME AND ADDRESS		Robinson Brothers Construction 6150 NE 137th Avenue Vancouver, WA 98682		2 South Bay Excavating, Inc. 1333 Maple Valley Road SW Olympia, WA 98512		Totem Electric of Tacoma 2332 Jefferson Avenue Tacoma, WA 98402		Transportation Systems Inc. 3218 - 142nd Avenue East Sumner, WA 98390		Cannon Construction 406 Porter Way Milton, WA 98354	on Inc.	
		TOTAL			\$201,997.94		\$257,129.93		\$258,081.36		\$269,043.31		\$287,264.60	
EM					TOTAL		TOTAL		TOTAL		TOTAL		TOTA	
). 	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT		AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUN	
HEDUI	LE I - FIBER OPTICS INTERCONNECT - GRANT ELIGIBLE													
1000	Mobilization	1	LS	\$2,000.00	\$2,000.00	\$6,500.00	\$6,500.00	\$9,047.00	\$9,047.00	\$12,000.00	\$12,000.00	\$4,000.00	\$4,000.00	
1008	Project Sign	2	EA	\$500.00	\$1,000.00	\$2,850.00	\$5,700.00	\$1,033.00	\$2,066.00	\$800.00	\$1,600.00	\$500.00	\$1,000.00	
1009	Minor Changes	1	CALC	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	
1011*	Traffic Control Labor	200	HR	\$41.00	\$8,200.00	\$45.90	\$9,180.00	\$48.40	\$9,680.00	\$48.00	\$9,600.00	\$30.00	\$6,000.00	
1013*	Traffic Control Supervisor	75	HR	\$45.00	\$3,375.00	\$50.00	\$3,750.00	\$48.40	\$3,630.00	\$56.00	\$4,200.00	\$60.00	\$4,500.00	
1014	Temporary Traffic Control Devices	1	LS	\$1,000.00	\$1,000.00	\$3,000.00	\$3,000.00	\$2,190.00	\$2,190.00	\$5,000.00	\$5,000.00	\$1,500.00	\$1,500.00	
1015*	Portable Changeable Message Sign (PCMS)	20	DAY	\$100.00	\$2,000.00	\$75.03	\$1,500.60	\$71.18	\$1,423.60	\$125.00	\$2,500.00	\$300.00	\$6,000.00	
1016*	Sequential Arrow Sign (SAS)	15	DAY	\$35.00	\$525.00	\$31.05	\$465.75	\$27.38	\$410.70	\$50.00	\$750.00	\$125.00	\$1,875.00	
1023	Furnish 6 Inch Diameter Schedule 80 Conduit	300	LF	\$6.00	\$1,800.00	\$4.94	\$1,482.00	\$12.44	\$3,732.00	\$15.00	\$4,500.00	\$9.67	\$2,901.00	
1024	Furnish 3 Inch Diameter Schedule 80 Conduit	30	LF	\$2.50	\$75.00	\$1.72	\$51.60	\$6.16	\$184.80	\$13.95	\$418.50	\$23.71	\$711.30	
1025	Furnish and Install 3/8 Inch Polyethylene Pull Rope and Rod and Proof Conduits	16,400	LF	\$0.35	\$5,740.00	\$0.40	\$6,560.00	\$0.50	\$8,200.00	\$0.90	\$14,760.00	\$1.15	\$18,860.00	
1026	Furnish and Install Single Mode (SM) Fiber Optic Cable, 288 Fiber Strand Count Cable	9,500	LF	\$3.75	\$35,625.00	\$2.99	\$28,405.00	\$3.78	\$35,910.00	\$4.10	\$38,950.00	\$4.27	\$40,565.00	
1027	Furnish and Install Single Mode (SM) Fiberoptic Cable, 24 Fiber Strand Count Cable	500	LF	\$1.30	\$650.00	\$4.08	\$2,040.00	\$1.53	\$765.00	\$1.75	\$875.00	\$1.21	\$605.00	
1028	Furnish 4 Inch Diameter Schedule 80 Conduit	410	LF	\$3.00	\$1,230.00	\$2.41	\$988.10	\$4.37	\$1,791.70	\$9.10	\$3,731.00	\$5.00	\$2,050.0	
1029 1030	Furnish Pull Box, with Heavy Duty Locking Lid	3 2	EA EA	\$1,450.00	\$4,350.00	\$3,157.00	\$9,471.00	\$1,107.00	\$3,321.00	\$1,900.00	\$5,700.00	\$1,670.00	\$5,010.00	
1030	Furnish Cable Vault, with Standard Locking Lid Furnish and Install Fiber Optic Cable Splice Enclosure with Capacity for 288	1	EA	\$1,520.00 \$655.00	\$3,040.00 \$655.00	\$1,610.00 \$1,020.00	\$3,220.00 \$1,020.00	\$2,546.00 \$1,095.00	\$5,092.00 \$1,095.00	\$3,680.00 \$1,200.00	\$7,360.00 \$1,200.00	\$3,930.00 \$1,527.00	\$7,860.00 \$1,527.0	
1031	Fiber Furnish and Install Fiber Distribution Center with Capacity to Terminate 288	1	EA	\$580.00	\$580.00	\$900.00	\$900.00	\$602.25	\$602.25	\$625.00	\$625.00	\$1,327.00	\$1,327.00	
1034	Fibers Furnish and Install Toneable Sequential Marked Mule Tape	9,600	LF	\$0.30	\$2,880.00	\$0.13	\$1,248.00	\$0.23	\$2,208.00	\$0.30	\$2,880.00	\$1.02	\$9,792.00	
1035	Open and Close Existing Splice Case and Provide and Install an "Add-a-	2	EA	\$300.00	\$600.00	\$180.00	\$360.00	\$273.75	\$547.50	\$275.00	\$550.00	\$1,157.00	\$2,314.00	
1036	Cable" Kit Furnish and Install 12 Fiber Duplex Fiber Adaptor Connector Panel with (24)	12	EA	\$200.00	\$2,400.00	\$144.00	\$1,728.00	\$227.76	\$2,733.12	\$240.00	\$2,880.00	\$260.00	\$3,120.00	
1007	LC Type Adaptors	4.0	5 A	****	#204.00	#FF 00	* //2.40	#00.40	\$005.5 (***	#4.000.00	* (2.00	#75 / 0/	
1037	Furnish and Install 24 Fiber Splice Trays for Closure	12	EA	\$32.00	\$384.00	\$55.20	\$662.40	\$82.13	\$985.56	\$86.00	\$1,032.00	\$63.00	\$756.00	
1038	Fusion Splice with Sleeve for OSP Closure	24	EΑ	\$22.00	\$528.00	\$36.00	\$864.00	\$27.38	\$657.12	\$35.00	\$840.00	\$13.92 \$77.40	\$334.08	
1039	Furnish and Install 24 Fiber Splice Trays for Fiber Housing	12 288	EA EA	\$32.00 \$9.00	\$384.00 \$2,592.00	\$55.20 \$19.20	\$662.40 \$5,529.60	\$54.75 \$10.95	\$657.00 \$3,153.60	\$65.00 \$11.95	\$780.00	\$77.40 \$41.05	\$928.80	
1040	Furnish and Install 3m Simplex Fiber Pigtail Assembly (LC)		EA EA			*		\$10.95 \$16.43		*	\$3,441.60	\$41.05 \$13.92	\$11,822.4	
1041	Fusion Splice with Sleeve at Fiber Housing	288 70	LF LF	\$22.00	\$6,336.00	\$36.00	\$10,368.00	1	\$4,731.84	\$17.00	\$4,896.00	·	\$4,008.9	
1042	Furnish and Install 1.25 Plenum Innerduct	70 288	LF EA	\$4.00	\$280.00	\$3.57	\$249.90	\$8.86	\$620.20	\$9.00	\$630.00	\$18.00 \$13.92	\$1,260.00	
1043 1044	Test Fiber Per Project Description, Per Strand Furnish and Install 1.25" HDPE Corrugated Innerduct Orange in Color with 1250 lb. Pull Tape	8,200	LF	\$8.50 \$1.00	\$2,448.00 \$8,200.00	\$6.00 \$0.95	\$1,728.00 \$7,790.00	\$16.43 \$3.14	\$4,731.84 \$25,748.00	\$17.00 \$1.22	\$4,896.00 \$10,004.00	\$13.92	\$4,008.96 \$13,940.06	
	SUB-TOTAL SCHEDULE I				\$100,877.00		\$117,424.35		\$137,914.83		\$148,599.10		\$160,576.5	
	Sales Tax 9.5%				\$9,583.32		\$11,155.31		\$13,101.91		\$14,116.91		\$15,254.7	
	TOTAL SCHEDULE I				\$110,460.32		\$128,579.66		\$151,016.74		\$162,716.01		\$175,831.2	
HEDUI	E II - FIBER OPTICS INTERCONNECT - NON GRANT ELIGIBLE													
2000	Mobilization	1	LS	\$2,000.00	\$2,000.00	\$10,550.00	\$10,550.00	\$8,690.00	\$8,690.00	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00	
2001	Remove Existing Asphalt Concrete Pavement	86	SY	\$10.00	\$860.00	\$125.00	\$10,750.00	\$31.24	\$2,686.64	\$30.00	\$2,580.00	\$28.00	\$2,408.00	
2002	Saw Cut Existing Asphalt Concrete Pavement	750	LF	\$1.60	\$1,200.00	\$4.00	\$3,000.00	\$3.29	\$2,467.50	\$3.50	\$2,625.00	\$7.50	\$5,625.00	
2003	Unsuitable Foundation Excavation Including Haul	25	CY	\$12.00	\$300.00	\$25.00	\$625.00	\$104.00	\$2,600.00	\$25.00	\$625.00	\$42.00	\$1,050.00	
2006	HMA Class 1/2, PG 64-22	34	TON	\$175.00	\$5,950.00	\$234.00	\$7,956.00	\$197.66	\$6,720.44	\$228.00	\$7,752.00	\$233.00	\$7,922.0	
2007	Cold Plant Mix for Temporary Pavement Patch	34	TON	\$90.00	\$3,060.00	\$212.00	\$7,208.00	\$259.10	\$8,809.40	\$130.00	\$4,420.00	\$97.10	\$3,301.4	
2009	Minor Changes	1	CALC	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	
2011	Traffic Control Labor	220	HR	\$41.00	\$9,020.00	\$45.90	\$10,098.00	\$48.40	\$10,648.00	\$48.00	\$10,560.00	\$30.00	\$6,600.00	

CITY OF KENT PROJECT NAME: S. 277th Street ValleyCom Fiber Optics Interconnect BID OPENING: March 8, 2011		BIDDER'S NAME AND ADDRESS		1 Robinson Brothers Construction 6150 NE 137th Avenue Vancouver, WA 98682		2 South Bay Excavating, Inc. 1333 Maple Valley Road SW Olympia, WA 98512		3 Totem Electric of Tacoma 2332 Jefferson Avenue Tacoma, WA 98402		4 Transportation Systems Inc. 3218 - 142nd Avenue East Sumner, WA 98390		5 Cannon Constructi 406 Porter Way Milton, WA 98354	
		TOTAL			\$201,997.94		\$257,129.93		\$258,081.36		\$269,043.31		\$287,264.60
ITEM					TOTAL	_	TOTAL	L	TOTAL	_	TOTAL		TOTAL
NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUN ⁻	UNIT PRICE	AMOUN	Г	AMOUN ⁻	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
2012	Construction Signs Class A	420	SF	\$2.00	\$840.00	\$5.00	\$2,100.00	\$12.56	\$5,275.20	\$4.00	\$1,680.00	\$2.80	\$1,176.00
2013	Traffic Control Supervisor	75	HR	\$45.00	\$3,375.00	\$50.00	\$3,750.00	\$48.40	\$3,630.00	\$56.00	\$4,200.00	\$60.00	\$4,500.00
2014	Temporary Traffic Control Devices	1	LS	\$1,000.00	\$1,000.00	\$3,000.00	\$3,000.00		\$2,190.00		\$3,000.00	\$1,500.00	\$1,500.00
2015	Portable Changeable Message Sign (PCMS)	20	DAY	\$100.00	\$2,000.00	\$75.03	\$1,500.60		\$1,423.60	\$125.00	\$2,500.00		\$6,000.00
2016	Sequential Arrow Sign (SAS)	15	DAY	\$35.00	\$525.00	\$31.05	\$465.75		\$410.70		\$750.00		\$1,875.00
2018	Temporary Pavement Marking	160	LF	\$2.00	\$320.00	\$5.00	\$800.00	\$1.72	\$275.20	\$5.00	\$800.00	\$5.71	\$913.60
2019	White Edge Line Plastic Stripe	160	LF	\$4.00	\$640.00	\$4.11	\$657.60	\$5.00	\$800.00	\$9.00	\$1,440.00	\$5.71	\$913.60
2022	Crushed Surfacing Top Course, 5/8 " Minus for Backfill for Utility Trench and Vault Excavation	307	TON	\$15.00	\$4,605.00	\$14.65	\$4,497.55	\$34.86	\$10,702.02	\$21.00	\$6,447.00	\$24.00	\$7,368.00
2023	Installation and Proofing of (2)-6 Inch Diameter Schedule 80 Conduits	150	LF	\$30.00	\$4,500.00	\$30.00	\$4,500.00	\$21.88	\$3,282.00	\$3.15	\$472.50	\$64.00	\$9,600.00
2024	Installation of (2)-3 Inch Diameter Schedule 80 Conduits	15	LF	\$25.00	\$375.00	\$45.00	\$675.00	\$17.17	\$257.55	\$13.00	\$195.00	\$64.00	\$960.00
2028	Directional Boring of (2)-4 Inch Diameter Schedule 80 Conduits	205	LF	\$48.00	\$9,840.00	\$75.00	\$15,375.00	\$72.82	\$14,928.10	\$93.00	\$19,065.00	\$110.00	\$22,550.00
2029	Excavation and Installation of Pull Box, with Heavy Duty Locking Lid	3	EA	\$4,500.00	\$13,500.00	\$2,500.00	\$7,500.00	\$410.00	\$1,230.00	\$2,000.00	\$6,000.00	\$975.00	\$2,925.00
2030	Excavation and Installation of Cable Vault, with Standard Locking Lid	2	EA	\$5,500.00	\$11,000.00	\$2,500.00	\$5,000.00	\$556.00	\$1,112.00	\$3,680.00	\$7,360.00	\$975.00	\$1,950.00
2033	Remove Existing Junction Box, Complete	3	EA	\$300.00	\$900.00	\$1,200.00	\$3,600.00	\$103.00	\$309.00	\$100.00	\$300.00	\$300.00	\$900.00
2035	Seeding, Fertilizing, and Mulching	0.2	AC	\$500.00	\$100.00	\$19,780.00	\$3,956.00	\$5,475.00	\$1,095.00	\$2,500.00	\$500.00	\$500.00	\$100.00
2036	Wattle	150	LF	\$3.00	\$450.00	\$10.00	\$1,500.00	\$3.60	\$540.00	\$4.00	\$600.00	\$5.00	\$750.00
2037	Straw Mulch Hand Applied	833	SY	\$2.00	\$1,666.00	\$1.00	\$833.00	\$1.82	\$1,516.06	\$1.85	\$1,541.05	\$1.00	\$833.00
2038	Inlet Protection	2	EA	\$60.00	\$120.00	\$500.00	\$1,000.00	\$96.00	\$192.00	\$95.00	\$190.00	\$20.00	\$40.00
2039	Temporary Erosion/Water Pollution Control	1	FA	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
2040	Cement Concrete Traffic Curb	15	LF	\$30.00	\$450.00	\$100.00	\$1,500.00	\$65.70	\$985.50	\$100.00	\$1,500.00	\$67.00	\$1,005.00
	SUB-TOTAL SCHEDULE II				\$83,596.00		\$117,397.50		\$97,775.91		\$97,102.55		\$101,765.60
	Sales Tax 9.5%				\$7,941.62		\$11,152.76		\$9,288.71		\$9,224.74		\$9,667.73
	TOTAL SCHEDULE II				\$91,537.62		\$128,550.26		\$107,064.62		\$106,327.29		\$111,433.33
	SUMMARY												
	Total Schedule I - Fiber Optics Interconnect - Grant Eligible				\$110,460.32		\$128,579.66		\$151,016.74		\$162,716.01		\$175,831.27
	Total Schedule II - Fiber Optics Interconnect - Non Grant Eligible				\$91,537.62		\$128,550.26		\$107,064.62		\$106,327.29		\$111,433.33
CONSTRI	JCTION CONTRACT TOTAL				\$201,997.94		\$257,129.93		\$258,081.36		\$269,043.31		\$287,264.60

CITY OF KENT PROJECT NAME: S. 277th Street ValleyCom Fiber Optics Interconnect BID OPENING: March 8, 2011		BIDDER' NAME AI ADDRES	ND	6 Prime Electric, Inc. 13301 SE 26th Stre Bellevue, WA 9800		ENGINEER'S ESTIMATE Ken Langholz		
		TOTAL		*	\$199,058.71		\$255,293.78	
ITEM NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL AMOUNT	
NO.	DESCRIPTION	QII	UNII	UNIT PRICE	AWOUNT	ONTI FRICE	AIVIOUNT	
SCHEDU	LE I - FIBER OPTICS INTERCONNECT - GRANT ELIGIBLE							
1000	Mobilization	1	LS	\$750.00	\$750.00	\$5,000.00	\$5,000.00	
1008	Project Sign	2	EA	\$600.00	\$1,200.00	\$500.00	\$1,000.00	
1009	Minor Changes	1	CALC	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	
1011*	Traffic Control Labor	200	HR	\$46.00	\$9,200.00	\$45.00	\$9,000.00	
1013*	Traffic Control Supervisor	75	HR	\$48.00	\$3,600.00	\$48.00	\$3,600.00	
1014	Temporary Traffic Control Devices	1	LS	\$1,200.00	\$1,200.00	\$2,500.00	\$2,500.00	
1015*	Portable Changeable Message Sign (PCMS)	20	DAY	\$90.00	\$1,800.00	\$75.00	\$1,500.00	
1016*	Sequential Arrow Sign (SAS)	15	DAY	\$40.00	\$600.00	\$75.00	\$1,125.00	
1023	Furnish 6 Inch Diameter Schedule 80 Conduit	300	LF	\$13.35	\$4,005.00	\$15.00	\$4,500.00	
1024	Furnish 3 Inch Diameter Schedule 80 Conduit	30	LF	\$5.90	\$177.00	\$10.00	\$300.00	
1025	Furnish and Install 3/8 Inch Polyethylene Pull Rope and Rod and Proof Conduits	16,400	LF	\$0.73	\$11,972.00	\$0.50	\$8,200.00	
1026	Furnish and Install Single Mode (SM) Fiber Optic Cable, 288 Fiber Strand Count Cable	9,500	LF	\$2.94	\$27,930.00	\$6.00	\$57,000.00	
1027	Furnish and Install Single Mode (SM) Fiberoptic Cable, 24 Fiber Strand Count Cable	500	LF	\$1.41	\$705.00	\$2.50	\$1,250.00	
1028	Furnish 4 Inch Diameter Schedule 80 Conduit	410	LF	\$3.75	\$1,537.50	\$6.00	\$2,460.00	
1029	Furnish Pull Box, with Heavy Duty Locking Lid	3	EA	\$1,490.00	\$4,470.00	\$1,500.00	\$4,500.00	
1030	Furnish Cable Vault, with Standard Locking Lid	2	EA	\$3,065.00	\$6,130.00	\$3,200.00	\$6,400.00	
1031	Furnish and Install Fiber Optic Cable Splice Enclosure with Capacity for 288 Fiber	1	EA	\$935.00	\$935.00	\$850.00	\$850.00	
1032	Furnish and Install Fiber Distribution Center with Capacity to Terminate 288 Fibers	1	EA	\$865.00	\$865.00	\$1,200.00	\$1,200.00	
1034	Furnish and Install Toneable Sequential Marked Mule Tape	9,600	LF	\$0.41	\$3,936.00	\$0.70	\$6,720.00	
1035	Open and Close Existing Splice Case and Provide and Install an "Add-a- Cable" Kit	2	EA	\$540.00	\$1,080.00	\$400.00	\$800.00	
1036	Furnish and Install 12 Fiber Duplex Fiber Adaptor Connector Panel with (24) LC Type Adaptors	12	EA	\$250.00	\$3,000.00	\$220.00	\$2,640.00	
1037	Furnish and Install 24 Fiber Splice Trays for Closure	12	EA	\$66.00	\$792.00	\$25.00	\$300.00	
1038	Fusion Splice with Sleeve for OSP Closure	24	EA	\$15.62	\$374.88	\$70.00	\$1,680.00	
1039	Furnish and Install 24 Fiber Splice Trays for Fiber Housing	12	EA	\$66.00	\$792.00	\$40.00	\$480.00	
1040	Furnish and Install 3m Simplex Fiber Pigtail Assembly (LC)	288	EA	\$11.90	\$3,427.20	\$14.00	\$4,032.00	
1041	Fusion Splice with Sleeve at Fiber Housing	288	EA	\$5.62	\$1,618.56	\$34.00	\$9,792.00	
1042	Furnish and Install 1.25 Plenum Innerduct	70	LF	\$10.31	\$721.70	\$12.00	\$840.00	
1043	Test Fiber Per Project Description, Per Strand	288	EA	\$3.24	\$933.12	\$4.00	\$1,152.00	
1044	Furnish and Install 1.25" HDPE Corrugated Innerduct Orange in Color with 1250 lb. Pull Tape	8,200	LF	\$1.18	\$9,676.00	\$1.50	\$12,300.00	
	SUB-TOTAL SCHEDULE I				\$105,427.96		\$153,121.00	
	Sales Tax 9.5%				INCLUDED		\$14,546.50	
	TOTAL SCHEDULE I				\$105,427.96		\$167,667.50	
	LE II - FIBER OPTICS INTERCONNECT - NON GRANT ELIGIBLE	_	, -			40.000		
2000	Mobilization	1	LS	\$750.00	\$750.00	\$3,000.00	\$3,000.00	
2001	Remove Existing Asphalt Concrete Pavement	86	SY	\$55.00	\$4,730.00	\$30.00	\$2,580.00	
2002	Saw Cut Existing Asphalt Concrete Pavement	750	LF	\$4.50	\$3,375.00	\$5.00	\$3,750.00	
2003	Unsuitable Foundation Excavation Including Haul	25	CY	\$50.00	\$1,250.00	\$20.00	\$500.00	
2006	HMA Class 1/2, PG 64-22	34	TON	\$275.00	\$9,350.00	\$120.00	\$4,080.00	
2007	Cold Plant Mix for Temporary Pavement Patch	34	TON	\$200.00	\$6,800.00	\$100.00	\$3,400.00	
2009	Minor Changes	1	CALC	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	
2011	Traffic Control Labor	220	HR	\$46.00	\$10,120.00	\$45.00	\$9,900.00	

CITY OF KENT PROJECT NAME: S. 277th Street ValleyCom Fiber Optics Interconnect BID OPENING: March 8, 2011		BIDDER'S NAME AND ADDRESS		6 Prime Electric, Inc. 13301 SE 26th Stree Bellevue, WA 98009		ENGINEER'S ESTIM Ken Langholz	ATE	
		TOTAL		*	\$199,058.71		\$255,293.78	
ITEM					TOTAL		TOTAL	
NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
2012	Construction Signs Class A	420	SF	\$19.00	\$7,980.00	\$15.00	\$6,300.00	
2013	Traffic Control Supervisor	75	HR	\$48.00	\$3,600.00	\$48.00	\$3,600.00	
2014	Temporary Traffic Control Devices	1	LS	\$1,200.00	\$1,200.00	\$1,000.00	\$1,000.00	
2015	Portable Changeable Message Sign (PCMS)	20	DAY	\$90.00	\$1,800.00	\$75.00	\$1,500.00	
2016	Sequential Arrow Sign (SAS)	15	DAY	\$40.00	\$600.00	\$75.00	\$1,125.00	
2018	Temporary Pavement Marking	160	LF	\$3.25	\$520.00	\$0.50	\$80.00	
2019	White Edge Line Plastic Stripe	160	LF	\$4.00	\$640.00	\$2.00	\$320.00	
2022	Crushed Surfacing Top Course, 5/8 " Minus for Backfill for Utility Trench and Vault Excavation	307	TON	\$13.00	\$3,991.00	\$25.00	\$7,675.00	
2023	Installation and Proofing of (2)-6 Inch Diameter Schedule 80 Conduits	150	LF	\$26.35	\$3,952.50	\$25.00	\$3,750.00	
2024	Installation of (2)-3 Inch Diameter Schedule 80 Conduits	15	LF	\$42.25	\$633.75	\$25.00	\$375.00	
2028	Directional Boring of (2)-4 Inch Diameter Schedule 80 Conduits	205	LF	\$77.00	\$15,785.00	\$50.00	\$10,250.00	
2029	Excavation and Installation of Pull Box, with Heavy Duty Locking Lid	3	EA	\$1,200.00	\$3,600.00	\$1,500.00	\$4,500.00	
2030	Excavation and Installation of Cable Vault, with Standard Locking Lid	2	EA	\$1,275.00	\$2,550.00	\$1,500.00	\$3,000.00	
2033	Remove Existing Junction Box, Complete	3	EA	\$200.00	\$600.00	\$150.00	\$450.00	
2035	Seeding, Fertilizing, and Mulching	0.2	AC	\$5,000.00	\$1,000.00	\$1,000.00	\$200.00	
2036	Wattle	150	LF	\$4.75	\$712.50	\$5.00	\$750.00	
2037	Straw Mulch Hand Applied	833	SY	\$2.00	\$1,666.00	\$3.00	\$2,499.00	
2038	Inlet Protection	2	EA	\$150.00	\$300.00	\$70.00	\$140.00	
2039	Temporary Erosion/Water Pollution Control	1	FA	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	
2040	Cement Concrete Traffic Curb	15	LF	\$75.00	\$1,125.00	\$20.00	\$300.00	
	SUB-TOTAL SCHEDULE II				\$93,630.75		\$80,024.00	
	Sales Tax 9.5%				INCLUDED		\$7,602.28	
	TOTAL SCHEDULE II				\$93,630.75		\$87,626.28	
	SUMMARY							
	Total Schedule I - Fiber Optics Interconnect - Grant Eligible				\$105,427.96		\$167,667.50	
	Total Schedule II - Fiber Optics Interconnect - Non Grant Eligible				\$93,630.75		\$87,626.28	
CONSTRU	JCTION CONTRACT TOTAL				\$199,058.71		\$255,293.78	

^{*}Non-responsive bid. Contract awarded to second low bidder.